CFK100H 22 [02OWFABRER ), srew p, sees

IEIEHRSZE - HERRFRRTER

The picture is just for the reference. Please check the the actual dimensions on the drawing

=1 4=30 = — s i B2
=ZNEED 1 220mm REEE 1000mm/s RIRIRIZ P

Maximum Stroke Maximum Speed MotorXlOutput BallXScrew

RUBESR/RA T, Ordering Method

CFK100H - L20 - 920 - BC - T400W - C 4 - MB-3M

A pERIgs gREE 9 ]
Model Ball Screw Lead Stroke
20 | 20mm 820 820mm
920 920mm

1020 1020mm
1120 1120mm
1220 1220mm

lﬁ'.%iéﬁ% l%%%‘%%ﬁ%‘i/& L%E%“r% *EEE@F@% ‘ﬁ#ﬁ@ﬁﬁ@ﬁ?%ﬁ W E

Motor Position Motorinstallation Motor Output Home Sensor Limit Sensor Motor Brand
BiE B Z A Y Out Sid U Out Sid B, BERRE=
Bc HESME T iﬁg M_:Sb?hiﬂiﬁ 400W  400W gg}; ut Side . 19;;;}; U wpaw 3B EREZE=SEH
T || =8 Mitsubishi 750W  750W ¢ R R 1prc e e
BM 'ﬁ%@ﬁmsme B oelia = %o%)g{;ue 4 2R 2rc ZMB gg%%ggaaﬁg_
BL ,&Eﬁzﬁs‘dc [ Rlllvoskowa D | Spposite Motor Side | 3 SENSOR No Sensor FAEREEREMCES
mEa (Bl novance R SENSOR 10 5crior 5| M SENSOR s KMB | M R % &
BR | Notor Right sice C mEmec E & SENSOR xEmaEn B RER,
—_— _— No Sensor #If No Brake,NoB Description.
P RTHRERREE

www.cf16.com




ERN{H#2 Specification

[ RS IR AR IE] < REH M iimEh> Sensor Layout

ﬁ%i@*ﬁfg Repeatability (mm) +0.01 '
miﬁégﬁ Ball Screw Lead (mm) 20 ‘—IC — "ESMV
— . Vora
BeiERE Maximum Speed (mm/s) 1000 ' o 100mAXT %
ACHIRBEZSE AC Servo Motor Output (W) 400 750 I T i §
= = H tal (k
ExTpEs INSE(ERS Horizontal (kg) 32 68 E3
Maximum Payload EE1§£@ Vertical (kg) 8 20
TEISHET] Rated Thrust (N) 374 640
FEXEITAZ Stroke Pitch (mm) 820 ‘ 920 ’ 1020 ‘ 1120 ‘ 1220
= Ml TEIRIRIEANME Ball Screw @ (mm) C7 # 20
= R
[=[= ]l SEEM2S Coupling (mm) 12X14 ‘ 12X19
Parts
[REREMERS PAR: EE-SX674(NPN)
Home Sensor Outside FC-SPX307-2M(NPN)
#*TENRRRED. 270 -
Acceleration and deacceleration value is set 0.2 second
B a#HE FER Allowable Overhang FFHERFEH/IES stafic Loading Moment
A
B c
c A 4
[
B
(B2t Unit : mm) (B2i7 Unit : mm) (BSfiZ Unit : mm) (BE{i7 Unit : N.m)
INE 7 AE 3 ) o HE E"“‘#t
Honzom:!,i:\\nsfo\c?on A B c wall \%TO;ZHZ‘?\'OH A B ¢ Veﬁ%olﬁn;stzo%ﬁom A c MYy 960
m | 15kg [1150] 392 | 518 = | 15kg | 410|422 [1260 = | 8kg | 1602 | 1602 mp 960
;i 32kg | 713 | 235 | 308 ;% 32kg | 250 | 265 | 803 ;% 14kg | 987 | 987 MR 2205
lead| 68kg | 470 | 190 | 204 lead| 68kg | 162 | 210 | 520 lead| 20kg 620 620 HDBRRATRARVEUE » KRB -
The torque value in the chart indicate the center of gravity.
I ERIREMESERT » REFMA10000RE -
Operation life is1,0000km when the product is using under the
specified conditions.
* E DERBEAEREER  IBTRBEIHITHE -
Data information is not for ceiling-mount inverse use
Contact us for the details if you want to apply ceiling-mount
Inverse usage.
EBELEIRESE—EER Svitable Motor Brand
ke RERCR BREE fRIRRSZERLR BEENSZBLSR ESgh
Brand Mark AC-Voltage Motor Model Driver Model 105;_312
_ MABREOKEALE) 750 220 HG-KN73J-8100 MR-JE-70A
== M No Brake (Horizontal Type)
Mitsubishi
o AREEALE) 750 220 HG-KN73BJ-S100 MR-JE-70A
With Brake (Vertical Type)
WA (KPR)
BT . No Brake (Horizontal Type) 750 220 MHMF082L1U2M MCDLNS35SE
Panasonic
AREEELR) 750 220 MHMFO082L1V2M MCDLN35SE
With Brake (Vertical Type)
MARRCKEALE) 750 220 ECM-B3M-C20807RS1 ASD-B3-0721-L
aiE T No Brake (Horizontal Type)
Delt
o ARSEELE) 750 220 ECM-B3M-C20807SS1 ASD-B3-0721-L
With Brake (Vertical Type)

www.cf16.com




CFK100H i/ 1-axis P mxmE . KEGH

7y E9$E§/III‘ E—F?ﬁ

/ I 1 i umt;mm\
) mi#t 8 oo oo [ 2] 2]

142.6
2xm-M2.5x0.45Px4 Dp  [XIE14-M3x0.5Px4 DP X 1 2x206H7V8
4-M8x1.25Px15 DP —
— 0 —N
e e————— = pre——
Le e e ___ %
=il i

| I
[=] ] [ E=| ‘ H|
S dtn M= =10l
P [so | g
NS A
125 L
100 (n-1)x150
SECTION A-A i 150 _| G
E + 4 & & t‘% ﬁ
p.a & 4 & 4 4 &
P4 T

2xn-¢ 9 THRU,® 14 X8.5 DP

nERE 2R S | Efm) E&E(kg)
L2(mm) L1(mm) =
A1BEE
980 1089 820 40 90 7 5 20.4
1080 1189 920 15 40 8 6 22.2
1180 1289 1020 65 90 8 6 24
1280 1389 1120 40 40 9 7 25.7
\ 1380 1489 1220 15 90 10 7 27.5 /
/ 1 1 : EfﬁUnit:mm\
G D ES3iZ T Motor Bottom Side ngoj ngnj
142.6
FEi4-M3x0.5Px4 DP 25 2x2-86H7 V8
2m-M25045Px4 QP 4-MBx1.25Px15 DP T
= I -

B
124 .
} 110:} (m-1)x200
93 | 15 —
[ | [
—| ~] [T
s ™~ HTFL._q I
-
}50‘ <t ey * 4 A
100
SECTION A-A 'E;
(n-T)x150
15071 G
—r P e & |
e Sl il B jm1
® 2 2 * i il
= = — = | f

—
?L;Tfm? L1%’nEm) G(mm) ~ H(mm)
980 1061 820 40 90 7 5 21
1080 1161 920 15 40 8 6 22.8
1180 1261 1020 65 90 8 6 24.6
1280 1361 1120 40 40 9 7 26.3
\ 1380 1461 1220 15 90 10 7 28.1 /

www.cf16.com




BELIISERR

/
( ’ EBIEZIR Motor Left Side [g:ﬂ [cﬁﬂ

2xm-M2.5x0.45Px4 DP

1426
2E4-M3x0.5Px4 DP 95
4-M8x1.25Px15 DP 580

2x2-@6H7V 8

5

|
== ——rto—=

BE{i Unit: mm\

HBERE

244
1 (m-1)x200 510
1 951 15 —4
o - — 1 ; T T -
iz i mm s I ™ ”m e ‘
e — b olat =
PO~ ol H B A |
Z.%L¢ 2
10 (n-1)x150 S—
SECTION A-A 2

% &

< & <

\ 2xn-@ 9 THRU,» 14X8.5 DP

R

/

2xm-M2.5x0.45Px4 DP /

e
T

4-M8x1.25Px15 DP.
[RME4-M3x0.5Px4 DP,

244
210

L2(mm) L1(mm) G(mm)  H(mm)
980 1061 820 40 90 7 5 21
1080 1161 920 15 40 8 6 22.8
1180 1261 1020 65 90 8 6 24.6
1280 1361 1120 40 40 9 7 26.3
\ 1380 1461 1220 15 90 10 7 28.1
1] 1 ) ﬁfﬁUnit:mm\
€ mast vooranse [ [2]
(m-1)x200 )
2x2-@6H7V 8
- 1]
et ——5— — ==

HERE

}50

22
100

SECTION A-A

E & -
150

2xn-¢ 9 THRU,® 14X8.5 DP

(n-1)x150
L2

L1

=R

L2(mm) L1(mm) G(mm)  H(mm)
980 1061 820 40 90 7 5 21
1080 1161 920 15 40 8 6 22.8
1180 1261 1020 65 90 8 6 24.6
1280 1361 1120 40 40 9 7 26.3
1380 1461 1220 15 90 10 7 28.1

)

www.cf16.com

A4D
B E /W —

B
1 axis

CFK

CFK100(H)




